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M.COM. SEM.-111
Financial Decision

Subject Code: 4503

Time: 02.30 Hours Marks: 70
Q-1 A company has an investment opportunity costing Rs. 40,000 with the following (18)
expected net cash flow (after taxes and before depreciation).
| Year Cash Flow

1 7,000

2 7,000

3 7,000

4 7,000

5 7.000

6 8.000

7 10,000

8 15,000

9 10,000

10 4,000

Using 10% as the cost of capital (rate of discount) determine the following.
1. Net present value at 10% discounting factor.
Profitability Index at 10% discounting factor.
Internal rate of return with the help of 10% discounting factor and 15%
discounting factor.
Present Value:

(VS I

Year | 1 2 | 3 4 5 6 7 8 9 10
P.V.of
Rs1at 0.909 | 0.826 | 0.751 | 0.683 | 0.621 | 0.564 | 0.513 | 0.467 | 0.424 | 0.386
10%
P.V.of
RsTat | 0.870 | 0.756 | 0.658 | 0.572 | 0.497 | 0.432 | 0.376 | 0.327 | 0.284 | 0.247
15%
OR
Q-1 (A) Explain modern approach in detail. (09)
(B) Give meaning and definition of financial management and also explain its (09)
importance.,
Q-2 Following is the balance sheet of ABC Ltd. as on 31.12.2019. (18)
Liabilities Rs. Assets Rs.
Equity Share Capital 1,00,000 | Net fixed Assets 4,00,000
(Each of Rs.10)
Reserves 80,000 | Current Assets 2,50,000
14% preference share 30,000
capital
15% Debentures 2,50,000
20% Term Loan 1,40.000
Current liabilities 50,000 _
' 6,50,000 | 6,50,000




Q-2

Q-3

Q-4

Additional Information:

1. The average market price of equity share is Rs. 30, The Expected dividend
in the next year is 24% The dividend grows at 11%.
2. The Tax bracket of the company is 40%.
3. The cost of retained earnings is 2% less than cost of equity capital,
(1) Calculate cost of equity under dividend growth model.
(2) Calculate the weighted average cost of capital of the company using the book
value weights.

OR
(A) Discuss effects of leverage on shareholders Risk.
(B) Write a note in detail on operating leverage.
Two company P And Q belong to the homogeneous risk class. Both are identical
in all respects except that P is a levered company and Q is an unlevered company.
In the levered company’s capital structure, there are 12% debenture of Rs,
10,00,000. Total assets of both companies are worth Rs.24 lakhs. Both earn 16%
return on their total assets before interest and taxes. Assuming that capital market
is perfect, investors behave rationally, tax rate is 50% and rate of equity
capitalization is 15% calculate the following,
(1) Value of firm using Net income approach.
(2) Value of firm using Net Operating income approach.

OR
(A) Write a note dividend policy and concept of share valuation.

(B) Write a note on stable dividend policy.

What is working capital? Explain in detail types of working capital.

OR

(A) Write short note: Cash Budget.
(B) Explain perpetual inventory in inventory management.
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